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QUESTION 1

DRAG DROP

Drag and drop the commands from the bottom to the blanks in the code to implement a translation rule to allow only 11
digits to be received over a SIP trunk to a SIP provider. The Cisco UCM is currently sending calls to the Cisco Unified.
Border Element in E.164 format. Not all options are used.

Select and Place:

Correct Answer:

Reference: https://www.cisco.com/c/en/us/support/docs/voice/call-routing-dial-plans/61083-voice-transla-rules.html
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QUESTION 2

Which two types of distribution algorithm are within a line group? (Choose two.) 

A. random 

B. circular 

C. highest preference 

D. top down 

E. bottom up 

Correct Answer: BD 

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/admin/9_0_1/ccmcfg/CUCM_BK_CDF59AFB_
00_admin-guide-90/CUCM_BK_CDF59AFB_00_admin-guide_chapter_0100011.html 

 

QUESTION 3

Which services are needed to successfully implement Cisco Extension Mobility in a standalone Cisco Unified
Communications Manager server? 

A. Cisco Extended Functions, Cisco Extension Mobility, and Cisco AXL Web Service 

B. Cisco CallManager, Cisco TFTP, and Cisco CallManager SNMP Service 

C. Cisco CallManager, Cisco TFTP, and Cisco Extension Mobility D. Cisco TAPS Service, Cisco TFTP, and Cisco
Extension Mobility 

Correct Answer: C 

Reference: https://www.cisco.com/c/en/us/td/docs/voice_ip_comm/cucm/admin/10_5_2/ccmfeat/CUCM_BK_C3A84B33
_00_cucm-feature-configuration-guide_1052/CUCM_BK_C3A84B33_00_cucm-feature-
configurationguide_chapter_011101.html#CUCM_TK_A337E035_00 

 

QUESTION 4

What is a function of the metadata carried in SIP sessions between the recording client and the recording server? 

A. It forks RTP media to the recorder. 

B. It provides advanced capabilities, such as speech analytics. 

C. It sets up a new SIP session 

D. It identifies the participant change due to transfers during the call. 

Correct Answer: D 
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QUESTION 5

Refer to the exhibit. An administrator configured a new SIP trunk between Cisco UCM and Cisco Unified Border
Element. Calls that use this new trunk are failing, and debugs from the Cisco Unified Border Element do not show any
signaling received from Cisco UCM. The administrator verified that OPTIONS is enabled on the SIP profile configured
on the trunk on Cisco UCM. The route pattern matched for this call is correctly configured to send calls to the Cisco
Unified Border Element using this new trunk. What is the cause of this failure? 

A. The calling search space on the calling line/device does not contain the partition of the route pattern 
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B. The called party number is not complete because it contains only 7 digits 

C. A connectivity issue between Cisco UCM and Cisco Unified Border Element prevents Cisco UCM from receiving a
response to the OPTIONS it is sending to Cisco Unified Border Element 

D. There are multiple matches for the dialed number, and Cisco UCM is trying to send the call to SEP2834A2824611
rather than Cisco Unified Border Element 

Correct Answer: C  
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